STEEL ADAPTERS FOR BRAKELINES

FEMALE BULKHEAD TO HOSE FEMALE TO MALE BULKHEAD ADAPTERS
FOR USE WITH BULKHEAD C-CLIP BELOW. FOR USE WITH BULKHEAD C-CLIP BELOW.
STANDARD SHORT
TEFLON HOSE SIZE  DESCRIPTION PART NO. FEMALE MALE PER PAIR
3 3/8” UNF-INV. FLR. 462303 INVERTED FLARE 3/8-24 3 402603
3 M10 x 1.0 INV. FLR. 462313 INVERTED FLARE 3/8-24 4 402604
3 M10 x 1.25 INV. FLR. 462323 3/8-24 SHORT INVERTED FLARE 3 402503
3 M10 x 1.0 CONCAVE 462403 3/8-24 SHORT INVERTED FLARE 4 402504
3/8-24 CONCAVE 3 402613
MALE FLARE SEAL ADAPTERS 3/8-24 CONCAVE 4 402614
3/8-24 SHORT CONCAVE 3 402513
3/8-24 SHORT CONCAVE 4 402514
M10 X 1.0 INVERTED FLARE 3 410103
M10 X 1.0 INVERTED FLARE 4 410104
M10 X 1.0 CONCAVE 3 410003
M10 X 1.0 CONCAVE 4 410004
CONVEX INVERTED FLARE M10 X 1.25 INVERTED FLARE 3 432503
SEAL THREAD SIZE PER PAIR M10 X 1.25 INVERTED FLARE 4 432504
3/8-24 INVERTED FLARE 3 402703 M10 X 1.25 CONCAVE 3 432513
3/8-24 INVERTED FLARE 4 402704 M10 X 1.25 CONCAVE 4 432514
3/8-24 SHORT INVERTED FLARE 3 402713
3/8-24 SHORT INVERTED FLARE 4 402714 .
7/16-20 INVERTED FLARE 3 402903 CRUSH WASHER SEAL ADAPTERS
7/16-20 INVERTED FLARE 4 402904
7/16-24 INVERTED FLARE 3 402803
7/16-24 INVERTED FLARE 4 402804
M10 X 1.0 INVERTED FLARE 3 420103
M10 X 1.0 INVERTED FLARE 4 420104
M10 X 1.0 CONVEX 3 420003
M10 X 1.0 CONVEX 4 420004 SEAL THREAD SIZE PER PAIR
M10 X 1.25 INVERTED FLARE 3 422503 3/8-24 3 402733
M10 X 1.25 INVERTED FLARE 4 422504 3/8-24 4 402734
M10 X 1.25 CONVEX 3 412503 7/16-20 3 402933
M10 X 1.25 CONVEX 4 412504 7/16-20 4 402934
7/16-24 3 402833
BULKHEAD GM FEMALE TEE 7716-24 4 402834
C-CLIP 3/8-24 INVERTED FLARE 19710 ; 120139
T MOUNTING 38 IV, FLARE M10 X 1.0 4 420134
HOLE —— — M10 X 1.25 3 422533
M10 X 1.25 4 422534
M10X 1.5 3 425033
3/8-24 STRAIGHT M10X1.5 4 425034
3/8-24 INV. USE 402733 OR
FLARE —— 402734 CRUSH . .
WASHER SEAL **Crush washer included with these adapters.
This handy C-clip securely ADAPTER

Brass tee with 3/8-24
concave inverted flares on
run, 3/8-24 straight on the
branch. Use with 3/8-24
crush washer seal adapters
#402733 or 402734.

PART # 441113

affixes brake fittings to the
chassis. PART # 402601



